
qm=;+=qm=;+=qm=;+=qm=;+= jf8{ g+=jf8{ g+=jf8{ g+=jf8{ g+= of]hgf tyf sfo{qmdx?of]hgf tyf sfo{qmdx?of]hgf tyf sfo{qmdx?of]hgf tyf sfo{qmdx?  g=kf=af6  g=kf=af6  g=kf=af6  g=kf=af6 hg;xeflutfhg;xeflutfhg;xeflutfhg;xeflutf s'n hDds'n hDds'n hDds'n hDd

1 ! b]vL !) s[ifL{ ;8s lgdf{0f dd{t-sG6]Gh];L jfx]s_ 1,455,000.00        0 1,455,000.00

2 ! b]vL !) hu]8f sf]if jf6 kSsL ;tx 9n lgdf0f{, sne6{, ;8s 9nfg -sG6]Gh];L jfx]s_ 19,400,000.00      7760000.00 27,160,000.00

3 ! b]vL !) ;8s af]8{ -sG6]Gh];L jfx]s_ 1,600,500.00        480000.00 2,080,500.00

4 Doflr+u kmG* -;dk'/s sf]if_ 800,000.00          0.00 800,000.00

23,255,500.0023,255,500.0023,255,500.0023,255,500.00                        8,240,000.008,240,000.008,240,000.008,240,000.00                        31,495,500.0031,495,500.0031,495,500.0031,495,500.00                                

5 :jLk/x?sf] tnj 2,301,000.00         2,301,000.00

6 jf?)foGqsf] sd{rf/L tnj eQf 2,748,085.60        2,748,085.60

7 ljB't ldl:qx? tnj eQf 700,000.00          700,000.00

8 ;/;kmfO{ tkm{sf rfnsx?sf] tnj eQf 800,000.00          800,000.00

6,549,085.606,549,085.606,549,085.606,549,085.60 0.000.000.000.00 6,549,085.606,549,085.606,549,085.606,549,085.60

qm=;+=qm=;+=qm=;+=qm=;+= jf8{ g+=jf8{ g+=jf8{ g+=jf8{ g+= of]hgf tyf sfo{qmdx?of]hgf tyf sfo{qmdx?of]hgf tyf sfo{qmdx?of]hgf tyf sfo{qmdx?  g=kf=af6  g=kf=af6  g=kf=af6  g=kf=af6 hg;xeflutfhg;xeflutfhg;xeflutfhg;xeflutf s'n hDds'n hDds'n hDds'n hDd

1 1 l;nfO{ s6fO{ d]l;g $ yfg tflnd / s9fO{ h/L 80,000.00 80,000.00

2 2 l;nfO{ s6fO{ d]l;g $ yfg / tflnd 80,000.00 80,000.00

3 3 l;nfO{ s6fO{ tflnd / d]l;g vl/b 80,000.00 80,000.00

4 4 l;nfO{ s6fO{ d]l;g / tflnd 80,000.00 80,000.00

5 5 l;nfO{ s6fO{ d]l;g / tflnd 80,000.00 80,000.00

6 6 s9fO{ tflnd d]l;g4f/f, ljGbL -l6sf_ agfpg] tflnd 80,000.00 80,000.00

7 7 l;nfO{ s6fO{ tflnd / d]l;g ;lxtsf] cw'/f]nfO} k'/f ug]{ . 80,000.00 80,000.00

8 8 #) hgf dlxnfnfO} l;nfO{ s6fO{ tflnd u/fpg] . 80,000.00 80,000.00

9 9 ;nfO{ s6fO{ d]l;g !) yfg vl/b / tflnd 80,000.00 80,000.00

10 10 ;nfO{ s6fO{ d]l;g !) yfg vl/b / tflnd 80,000.00 80,000.00

800,000.00800,000.00800,000.00800,000.00 800,000.00800,000.00800,000.00800,000.00

dn+ujf gu/kflnsfsf] cf=j= 071.072 sf] cg'dflgt lalgof]lht of]hgf tyf vr{sf] ljj/)fdn+ujf gu/kflnsfsf] cf=j= 071.072 sf] cg'dflgt lalgof]lht of]hgf tyf vr{sf] ljj/)fdn+ujf gu/kflnsfsf] cf=j= 071.072 sf] cg'dflgt lalgof]lht of]hgf tyf vr{sf] ljj/)fdn+ujf gu/kflnsfsf] cf=j= 071.072 sf] cg'dflgt lalgof]lht of]hgf tyf vr{sf] ljj/)f

hDdfhDdfhDdfhDdf

hDdfhDdfhDdfhDdf

dlxnf x?nfO{ k|ToIf kmfO{bf x'g] cfof]hgfx? dlxnf x?nfO{ k|ToIf kmfO{bf x'g] cfof]hgfx? dlxnf x?nfO{ k|ToIf kmfO{bf x'g] cfof]hgfx? dlxnf x?nfO{ k|ToIf kmfO{bf x'g] cfof]hgfx? 

hDdfhDdfhDdfhDdf



qm=;+=qm=;+=qm=;+=qm=;+= jf8{ g+=jf8{ g+=jf8{ g+=jf8{ g+= of]hgf tyf sfo{qmdx?of]hgf tyf sfo{qmdx?of]hgf tyf sfo{qmdx?of]hgf tyf sfo{qmdx?  g=kf=af6  g=kf=af6  g=kf=af6  g=kf=af6 hg;xeflutfhg;xeflutfhg;xeflutfhg;xeflutf s'n hDds'n hDds'n hDds'n hDd

1 1 ;fd'bflos ljBfnodf lk+u -em'n'jf lgdf{0f / lss|]6 ;dfu|L_ 80,000.00 0.00 80,000.00

2 2
v]ns'b ;fdu|L / % yfg k+vf k|f=lj=:s'n df -?= !%)))_ k|f]h]S6/ ! yfg klAns 
df=lj=df,kf7ok':ts 80,000.00 0.00 80,000.00

3 3 lhnlgof db;f{ / ;fd'bflos k|fylds b'j}df #), #) yfg 8]s; a]Gr pknAw u/fpg] 80,000.00 0.00 80,000.00

4 4 k|fljdf sf]lru+sf] Joj:yf 80,000.00 0.00 80,000.00

5 5 sf]lru+sf] ;]G6/sf] Joj:yf 80,000.00 0.00 80,000.00

6 6

afnsNj u7g tyf sf]7f ef8f lnO{ k':tsfno tyf v]ns'bsf] ;fdu|L vl/b ug]{.;fd'bflos 
ljBfnodf ljkGg afnaflnsfx?nfO{ kf]zfs, emf]nf, lstfa / sfkL ljt/0f ug]{ . 

80,000.00 0.00 80,000.00

7 7 ;fd'bflos ljBfnodf kf];fs, h'tf / emf]nf ljt/0f 80,000.00 0.00 80,000.00

8 8 afn ljsf;sf] nflu v]nf}gf, z}lIfs ;fdu|L ljt/0f ug]{ . 80,000.00 0.00 80,000.00

9 9
s[i0ffdtL k|f=lj :s'ndf em'n'jfsf] Joj:yf / v]ns'b ;fdfu|L vl/b .k|flj :s'ndf sf]lr+u sf] Joj:yf 
a9Ldf ? @% xhf/ ;Ddsf] 80,000.00 0.00 80,000.00

10 10 v]ns'b ;fdu|L / sf]lr+usf] Joj:yf .afnk':tsfno      -;fd'bflos ejgdf_ 80,000.00 0.00 80,000.00

800,000.00800,000.00800,000.00800,000.00 0.000.000.000.00 800,000.00800,000.00800,000.00800,000.00

qm=;+=qm=;+=qm=;+=qm=;+= jf8{ g+=jf8{ g+=jf8{ g+=jf8{ g+= of]hgf tyf sfo{qmdx?of]hgf tyf sfo{qmdx?of]hgf tyf sfo{qmdx?of]hgf tyf sfo{qmdx?  g=kf=af6  g=kf=af6  g=kf=af6  g=kf=af6 hg;xeflutfhg;xeflutfhg;xeflutfhg;xeflutf s'n hDdfs'n hDdfs'n hDdfs'n hDdf

1 1 blnt a:tLdf wd{zfnf lgdf{)f,x})* kfO{k 5 yfg 1,20,000 0.00 1,20,000.

2 2 wd{zfnf kvf{n lgdf{)f -em)*F ahf/_ 1,20,000 0.00 1,20,000.

3 3 lss]|^ ;fdfu|Lx?sf] vl/b / ckfu+x?nfO{ sDKo"^/ tflnd 1,20,000 0.00 1,20,000.

4 4 wd{zfnf lgdf{)f 1,20,000 0.00 1,20,000.

5 5 ;fj{hlgs ;f}rfno lgdf{)f,ckfu+x?nfO{ %fqj[ltsf] Joj:yf,cf}ifwL pkrf/ 1,20,000 0.00 1,20,000.

6 6 h]i& gful/s / ljkGg kl/jf/nfO{ sDan / em'n ljt/)f ug]{ . 1,20,000 0.00 1,20,000.

7 7 ckfu+nfO{ ! yfg l/S;f, h]i7 gful/s ljkGgx?sf] ;dfgsf] nflu sdn / em'nsf] ljt/0f 1,20,000 0.00 1,20,000.

8 8 ;fj{hlgs :yndf k]zfj km]g]{ :yfg lgdf{0f . 1,20,000 0.00 1,20,000.

jfnjflnsfx?nfO{ k|ToIf kmfO{bf x'g] cfof]hgfx? jfnjflnsfx?nfO{ k|ToIf kmfO{bf x'g] cfof]hgfx? jfnjflnsfx?nfO{ k|ToIf kmfO{bf x'g] cfof]hgfx? jfnjflnsfx?nfO{ k|ToIf kmfO{bf x'g] cfof]hgfx? 

hDdfhDdfhDdfhDdf

cfly{s,tyf ;fdflhs ?kdf kl5 k/]sf ljkGg ju{ x? -blnt,cfbLjf;L hghftL,h]i7gful/s,d':nLd / cGo lk58f ju{_nfO{ k|ToIf kmfO{bf x'g] cfly{s,tyf ;fdflhs ?kdf kl5 k/]sf ljkGg ju{ x? -blnt,cfbLjf;L hghftL,h]i7gful/s,d':nLd / cGo lk58f ju{_nfO{ k|ToIf kmfO{bf x'g] cfly{s,tyf ;fdflhs ?kdf kl5 k/]sf ljkGg ju{ x? -blnt,cfbLjf;L hghftL,h]i7gful/s,d':nLd / cGo lk58f ju{_nfO{ k|ToIf kmfO{bf x'g] cfly{s,tyf ;fdflhs ?kdf kl5 k/]sf ljkGg ju{ x? -blnt,cfbLjf;L hghftL,h]i7gful/s,d':nLd / cGo lk58f ju{_nfO{ k|ToIf kmfO{bf x'g] 
cfof]hgfx? cfof]hgfx? cfof]hgfx? cfof]hgfx? 



9 9 sDKo'6/ tflnd,/fhb]jL dlGb/df wd{zfnf dd{t, z'ne zf}rfno lgdf{0f $ yfg . 1,20,000 0.00 1,20,000.

10 10 ljkGg h]i7gful/s / ckf+unfO{ sDan / em'n ljt/0f . 1,20,000 0.00 1,20,000.

0.000.000.000.00 0.000.000.000.00

of]hgf tyf sfo{qmdx?of]hgf tyf sfo{qmdx?of]hgf tyf sfo{qmdx?of]hgf tyf sfo{qmdx?  g=kf=af6  g=kf=af6  g=kf=af6  g=kf=af6 hg;xeflutfhg;xeflutfhg;xeflutfhg;xeflutf s'n hDdfs'n hDdfs'n hDdfs'n hDdf

k|fljlws pks/0f vl/b 316400.00 0.00 316400

pkef]stf,sd{{rf/L cled'lvs/0f tflnd 75,000.00 0.00 75000

;'kl/j]If0f,cg'udg d"Nof+sg 50,000.00 0.00 50000
of]hgf lstfj tof/L 81,485.10            0.00 81485.1
Ogwg 100,000.00          0.00 100000
b}lgs e|d0f eQf tyf vfhf vr{ 100,000.00          0.00 100000

;"rgf tyf 6]G8/ k|sfzg 100,000.00          0.00 100000
ljljw 104,500.00          0.00 104500

927,385.10927,385.10927,385.10927,385.10                                            0.00 927,385.10927,385.10927,385.10927,385.10                                                    

qm=;+=qm=;+=qm=;+=qm=;+= jf8{ g+=jf8{ g+=jf8{ g+=jf8{ g+= j8f :t/Lo of]hgfj8f :t/Lo of]hgfj8f :t/Lo of]hgfj8f :t/Lo of]hgf  g=kf=af6  g=kf=af6  g=kf=af6  g=kf=af6 hg;xeflutfhg;xeflutfhg;xeflutfhg;xeflutf s'n hDds'n hDds'n hDds'n hDd

1 dxf/fgL :yfgdf wd{zfnf lgdf{0f,dfnL j:tLdf x}08 kfO{k ! Yffg  2,40,000      96,000.00 

2 zf}rfno lgdf{0f -s[i0f rf}sdf_ , t]hgf/fo0f /fo sf] 3/ b]vL uf]/vsfnL ;Dd cw'/f] af6f] k'/f ug]{ . -?= %),)))_
 2,40,000      96,000.00 

3 xl/gf/fof0f /fdsf] 3/ b]lv blIf0f km]sg ;fxsf] 3/ ;Dd b'j} tkm{ klSs gfnf / c;ndsf] 3/ b]lv blIf0f pk]Gb| 
hf]uLsf] 3/ x'Fb} d]g'lbgsf] 3/ ;Dd b'j} tkm{ kSsL gfnf lgdf{0f ug]{ 

 2,40,000      96,000.00 

4/fhlszf]/ k+l8tsf] 3/ b]lv cgj/sf] 3/ ;Dd ;8s lgdf{0f / u|]en,rf}w/L kf]v/L b]vL s]bf/ kf08]sf] hUuf ;Dd gof af6f] lgdf{0f 2,40,000      96,000.00 

5
dx]z 7fs'/ xhfdsf] 3/ cuf8L /xs]f sne{6 lgdf{0f ., /fh]Gb| dxtf] sf] k;n glhs sne6{ lgdf{0f,k'?iff]td 
k|;fb l;+xsf] 3/ b]vL klZrd dx]z 7fs'/ xhfdsf] 3/ ;Dd ;8s 9nfg .,dl:hb b]lv klZrd c?Nnf  x';]g sf] 
3/ ;Dd ;8s 9nfg .lzjhL sf] 3/ b]vL c;u/ ldof sf] 3/ ;Dd ;8s 9nfg .,g]ldrg k+l8tsf] 3/ b]vL pt/ 
x'Fb} ;'bldofsf] 3/ b]lv k"j{ kSsL gfnf lgdf{0f .

 2,40,000      96,000.00 

6 ljBfno lgdf{0f ug]{ - 8fj/L hUuf 5'6\ofP/ agfpg]_  2,40,000      96,000.00 

hDdfhDdfhDdfhDdf

slG6Gh]G;L tkm{slG6Gh]G;L tkm{slG6Gh]G;L tkm{slG6Gh]G;L tkm{
qm=;+=qm=;+=qm=;+=qm=;+=

1
2
3
4
5
6
7
10

hDdfhDdfhDdfhDdf

cfly{s ;fdflhs ef}lts k"jf{wf/ of]hgfx? cfly{s ;fdflhs ef}lts k"jf{wf/ of]hgfx? cfly{s ;fdflhs ef}lts k"jf{wf/ of]hgfx? cfly{s ;fdflhs ef}lts k"jf{wf/ of]hgfx? 

1       672,000.00 

2       672,000.00 

3       672,000.00 



7 c;lkm{ ;fxsf] 3/ b]vL vlnn ldof sf] k;n / gjflh;sf] 3/b]lv 8a/f ;Ddsf] cw'/f]nfO{ k'/f ug{ kSsL gfnf .  2,40,000      96,000.00 

8 cfFvf c:ktfn b]vL bIfL0f pu|sfGt emfsf] 3/ ;Dd df6f] u|]en ug]{ . df]xg hf];Lsf] 3/ b]vL ;'/]Gb| l;+xsf] 
3/;Dd u|]en ug]{ .

 2,40,000      96,000.00 

9 cfFvf c:ktfn b]vL bIfL0f pu|sfGt emfsf] 3/ ;Dd df6f] u|]en ug]{ . w?g sf] 3/ b]vL pt/ sfl;dsf] 3/ ;Dd 
u|]en ug]{ .pk]Gb| /fptsf] 3/ b]vL k"j{ tk;L ;fxsf] 3/ ;Dd u|]en ug]{ .

 2,40,000      96,000.00 

10 df/s08] emfsf] 3/ b]vL cuf8L sne6{ lgdf0f / ;fj{hlgs zf}rfno .  2,40,000      96,000.00 

                      -            960,000.00          960,000.00          960,000.00          960,000.00           3,360,000.00           3,360,000.00           3,360,000.00           3,360,000.00 

gu/ :t/Lo of]hgfgu/ :t/Lo of]hgfgu/ :t/Lo of]hgfgu/ :t/Lo of]hgf  g=kf=af6  g=kf=af6  g=kf=af6  g=kf=af6 hg;xeflutfhg;xeflutfhg;xeflutfhg;xeflutf s'n hDds'n hDds'n hDds'n hDd

;8s dd{t tyf u|]e]nL+u 500000.00 0.00 500000.00

dd{t ;+ef/ 500000.00 0.00 500000.00

ljljw 37310.60 0.00 37310.60

1,037,310.601,037,310.601,037,310.601,037,310.60                                    0.000.000.000.00 1037310.601037310.601037310.601037310.60

j*f :t/Lo of]hgfj*f :t/Lo of]hgfj*f :t/Lo of]hgfj*f :t/Lo of]hgf  g=kf=af6  g=kf=af6  g=kf=af6  g=kf=af6 hg;xeflutfhg;xeflutfhg;xeflutfhg;xeflutf s'n hDds'n hDds'n hDds'n hDd

lzjdlGb/ / xg'dfg dlGb/ dd{t, rte'{h :yfg / O{gf/ dd{t . 1,60,000 64000.00 224000000.00
s[i0f rf}sdf s[i0f dlGb/ lgdf{0f ug]{ . 160000.00 64000.00 224000.00

gf;L kf]v/L pt/ d'xf/ kSsL,lhnlgof hfdf dl:hb dd{t,% yfg x}08 kfOk . 160000.00 64000.00 224000.00

;n]z dlGb/df sDkfp08 jfn,l;j;fu/ dlGb/sf] dd{t . 160000.00 64000.00 224000.00

uf]l;of dl:hbsf] 5t 9nfg,x}08 kfOk % yfg,vfg]kfgL tyf wf/f h8fg,;fj{hlgs Ogf/sf] dd{t 160000.00 64000.00 224000.00

;/;kmfO{sf] nflu sG6]g/ Joj:yf u/L ;/;kmfO{ sfo{qmd . 160000.00 64000.00 224000.00

cw'/f] wd{zfnfnfO{ k'/f ug]{  -8f]d 6f]n_,dl:hbnfO} dd{t ug]{ . 160000.00 64000.00 224000.00

/fwf s[i0f dlGb/nfO{ k'gM lgdf{0f , lzj dlGb/df -dxfb]j6f]n_ x}08 kfO}k / klSs lgdf{0f 160000.00 64000.00 224000.00

s[i0ffdtL pRr dfjL :s'nsf] lkmN8 dd{t / kfgL lgsfz . 160000.00 64000.00 224000.00

d'/nL kf]]v/Ldf tf/, af]N8/ hfnL ;d]t / ;fd'bflos ejgdf emofn 9f]sf lgdf{0f ,h=lj=;=rf}s b]vL 
6fj/ rf}s ;Dd kfgL lgsfz 160000.00 64000.00 224000.00

1,440,000.001,440,000.001,440,000.001,440,000.00            640000.00640000.00640000.00640000.00 2080000.002080000.002080000.002080000.00

4       672,000.00 

5       672,000.00 

hDdfhDdfhDdfhDdf

qm=;+=qm=;+=qm=;+=qm=;+=

1
2
3

hDdfhDdfhDdfhDdf

k|j4{gfTds tkm{sf of]hgfk|j4{gfTds tkm{sf of]hgfk|j4{gfTds tkm{sf of]hgfk|j4{gfTds tkm{sf of]hgf
qm=;+=qm=;+=qm=;+=qm=;+=

1
2
3
4

5
6
7
8
9

10
hDdfhDdfhDdfhDdf



gu/ :t/Lo of]hgfgu/ :t/Lo of]hgfgu/ :t/Lo of]hgfgu/ :t/Lo of]hgf  g=kf=af6  g=kf=af6  g=kf=af6  g=kf=af6 hg;xeflutfhg;xeflutfhg;xeflutfhg;xeflutf s'n hDds'n hDds'n hDds'n hDd

gfnf ;/;kmfO{ 350000.00 0.00 350000.00

nfdv'^^\] lgoGq)f 200000.00 0.00 200000.00

k|sf]k Joj:yfkg 141540.40 0.00 141540.40

691540.4691540.4691540.4691540.4 0.00 691540.40

35,500,821.7035,500,821.7035,500,821.7035,500,821.70                                        9,840,000.009,840,000.009,840,000.009,840,000.00                                    45,340,821.7045,340,821.7045,340,821.7045,340,821.70                                            s'n hDdfs'n hDdfs'n hDdfs'n hDdf

qm=;+=qm=;+=qm=;+=qm=;+=

1
2
3

hDdfhDdfhDdfhDdf


